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1. (10 )8 B 2AF inorder 4%ifR 23R preorder, postorder, and level order:
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typedef struct node { int value; node *next;}

void push (node **top, int new_value) { // assume top is not null
node *new_node = (node *) malloc (sizeof (node));

// Your answer starts here
// add new_node to stack by top

b

int pop (node **top) { // assume top is not null
int value;
node *deleting node = *top;

// Your answer starts here
// remove the deleting node from stack, get the value of deleting node

free(deleting_node);
return value;

}
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5. (8 %) (a). Describe the property of B-tree of order m (b). Euler Circuit
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A 4-way merge on 16 runs

Figure 2
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